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Examination 10111318

1. What checks a single method or a set of cooperating methods?
2. ____________________ test cases are values that lie at the boundary of acceptable inputs.

3. This command executes programs one line at a time.

4. What is a slow but reliable method to compute a result for testing purposes?
5. A program ____________________ consists of messages that show the path of execution.

6. Using selection sort, approximately how many steps would it take to sort a data set of 60,000 values?

A)
Two times as many as 30,000 values

B)
Four times as many as 30,000 values

C)
Six times as many as 30,000 values

D)
Eight times as many as 30,000 values
7. Which of the following tests whether two references are the same object?

A)
equals

B)
instanceof

C)
==

D)
= 
8. These types are often used to make code more general and more reusable by focusing on the essential operations that are carried out.
9. What are testing strategies that look inside a program?

10. ____________________ testing describes a testing method that does not take the structure of the implementation into account.

11. A binary search is a(n) ____ algorithm.

A)
O(log(n))

B)
log n

C)
O(1)

D)
O(n)
12. A(n) ____ should ensure that each part of the code is covered by some input.

A)
test harness

B)
oracle

C)
black-box

D)
test suite

13. The dual use of the super keyword is analogous to the dual use of the ____ keyword.

A)
final

B)
instanceOf

C)
this

D)
abstract

14. Batch files are a feature of ____.

A)
Java

B)
objects

C)
the operating system

D)
classes

15. A(n) ____ is a program that you can use to execute another program and analyze its run-time behavior.

A)
compiler

B)
debugger

C)
constructor

D)
oracle

16. All methods in an interface are ____________________; that is, they have a name, parameters, and a return type, but they do not have an implementation.
17. Merge sort is a(n) ____ algorithm.

A)
O(n)

B)
O(n log(n))

C)
O(n2)

D)
log n
18. A class implements an interface type if it declares the interface in a(n) ____________________ clause, and if it implements the method or methods that the interface requires.
19. How large does n need to be so 0.3n2 is bigger than 2.5n - 3?

A)
2

B)
3

C)
4

D)
5
20. The ____ method makes a new object with the same state as an existing object.

A)
clone

B)
copy

C)
duplicate

D)
newCopy

21. What is needed to convert from an interface type to a class type?
22. A linear search locates a value in an array of length n in ____ steps.

A)
n2

B)
log n

C)
O(n)

D)
log n2
23. The ____ is called whenever you want to compare whether two objects have the same contents.

A)
equalTo method

B)
equals method

C)
== operator

D)
isEqual method
24. ____________________ denotes the principle that behavior can vary depending on the actual type of an object.
25. When the size of an array increases by a factor of 100, the selection sorting time increases by a factor of ____.

A)
2,000

B)
5,000

C)
10,000

D)
12,000
26. ____________________ binding of methods occurs if the compiler selects a method from several possible candidates.

27. What is any class that is defined inside another class?
28. What class in the javax.swing package generates a sequence of events, spaced apart at even time intervals?
29. What is notified when a particular event occurs?
30. When you use a timer, you need to define a class that implements the ____________________ interface.

31. Selection sort is a(n) ____ algorithm.

A)
O(n2)

B)
O(1)

C)
log n

D)
O(log n2)
32. Classes that are used for implementation reasons should have ____________________ access.

33. An interface type does not have ____.

A)
return types

B)
instance fields

C)
abstract methods

D)
public methods

34. Computer scientists use the big-Oh notation ____ to express that the function f grows no faster than the function g.

A)
f(n) = O(g(n2))

B)
f(n) = O(g(n))

C)
f(n)  = O(g(1))

D)
f(n) = O(g(log n))
35. A Java ____ declares a set of methods and their signatures.

A)
local variable

B)
object

C)
interface type

D)
event
36. This sort algorithm sorts an array by cutting the array in half, recursively sorting each half, and then combining the sorted halves.
37. Linear search is also called ____________________ search
38. ____________________ is a mechanism for extending existing classes by adding methods and fields.
39. This sort algorithm sorts an array by repeatedly finding the smallest element of the unsorted tail region and moving it to the front.
40. The more generalized class that forms the basis for inheritance is called the ____________________.
41. This search examines all values in an array in order until it finds a match or reaches the end.
42. A(n) ____________________ has no access to the private fields of its superclass.
43. A(n) ____________________ rearranges the elements of a collection so that they are stored in sorted order.
44. Use the ____________________ keyword to call a method of the superclass.

45. Sorting an array of a million entries, using selection sort, takes ____________________ times as long as sorting 10,000 entries.

46. The ____________________ operator tests whether an object belongs to a particular type.
47. A(n) ____________________ search locates a value in a sorted array by determining whether the value occurs in the first or second half, then repeating the search in one of the halves.
48. The ability to refer to objects of multiple types with varying behavior is called ____________________.

49. With a few exceptions, instance and static fields of classes should always have ____________________ access.
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